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QUESTION 1

The function of the Internet of Things is only to collect data generated by various things. 

A. Yes 

B. wrong 

Correct Answer: B 

 

QUESTION 2

Voice recognition, image recognition, and emotional companion robots are all applications of artificial intelligence 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 3

In Huawei FusionCompute, the following incorrect description of the security group rule is. 

A. When a virtual machine has multiple network cards, you can configure a security group for each network card. 

B. A virtual machine can communicate with the outside world only after a security group is created and rules are added. 

C. All virtual machine NICs in the same security group will use the security group rules for access control 

D. The essence of a security group is a collection of rules 

Correct Answer: B 

 

QUESTION 4

The following description about the characteristics of type I (bare metal) computing virtualization is correct [multiple
choices] 

A. Applications can run directly on VMM 

B. Hypervisor runs directly on physical hardware 

C. Both applications and virtual machines can run directly on the Host OS 

D. Application cannot run directly on Host Machine 

Correct Answer: BD 
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QUESTION 5

If an enterprise uses a hybrid cloud, the devices that cannot be used as the demarcation point between public and
private clouds are 

A. Core switch 

B. Firewall 

C. Virtual switch 

D. Flow cleaning equipment 

Correct Answer: AC 
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